°
o
4
ol
iy

@O -15<x<12

@ —7T<x<?2

1 x2 +2x-35< 02 =97

@ -15<x<5

® -5<x<7

® -T<x<5



DO x<-3FE+=x>2
@ x<-1E=x>4

@ x<13:_%x>6

3]—031 OIX]_H ‘:/U X +x— 6>0% %Eﬂ?

@ x<-2EE=x>3

@ x<0EE=x>5



® x<-3 ® -2<x<1 ® -1<x<2
@ 0<x<?2 B x>3



x2-2x+1>0

o =
AHFESA = THEStH

Voo i E TESHE A A
X< —9x — <

rr

@D 770 @ 871 ® 970 @ 107 ® 117



o a7
2<x+2
@ -1<x<1
B 2<x<4

® -1<x<?2



6. OIARSA 22 -6x+92>02] S F5H?

©

Sfi7t glot @ x=3
@ -3<x<3

(®)
=

++

w
o
ko
r|
>
-



2 —kx+2> 00 P4 AYE
a<k<bolth. o o, ab o] 27
@ -9 3 -8 @ -7 B -6



E A& xof tfste] 5241 ax? + 2ax—4 > 09]
A= a9 o] He=?
® -4<a<0
® -4<a @ -4<a<0

B 0<a<4

A

sk

@ 0<a<l1lE=a>3



BS54 £+ °
A] x+m > 09 x2] gholl TA o]

252

9.

®1

— | O\

— | <t



10. == Ag xoll ot B34 ax? 4+ 2ax + 3 > 0°] YIS Sh=

A4 a ) A5

@D 174 @ 274 B 370 @ 474 ® 570



11. 2E A% xof tiake] x2 + 2(a—5)x + 2(3a - 19) 7} ol =|7] 915
a 3] He=?

@ a<7 @ a>9 ® 6<a<9

@ 6<a<9 B 7<a<9



12, a(x® - 2x+2) > 2x& THESHE= 17 EA5HA] Y= 5= A5 0 9]
el M9

Da<l-2 @ a<l1 ®a<l+ V2
@ 0<a<l ® 0<a< V2



)
®

Nl

<a

<a

<2

<5

w| ot

IA

IN



14.

@ 3



15.

RE A% xof thato] x2 4 dkx+ 2k + 6 > 09]

ol

O x2s4

@ s 9

3
1<k<2
@ <k<3

® k<—1,k>g

FEAAHE &



16. OJAFRGA ax? —bx+c <09 7t x < —1FEE= x> 3L o, o|A}F
S ax® +cex+b>09 =2

DO -2<x<1 @ -1<x<0 ® 1<x<2

@ 1<x<3 B 2<x<5



17. ol 2 —dx+k = 09] F Ao] W gurk ] 915 A%
kO] W91 751 m < k < nolth mn ) ZLS TEHE?

@D 10 ® 12 3 —=15 @ =12 ® =10



18. O|AHAA 2 —mx+2=00] 2HT} 2 23} oH T} 2R 28 71A
o m o] ko] M-S F-otH?

DO m>-1 @ m>1 Q® m>-2

@ m>2 ® m>3



19. 1<x<3 oA xof thgt oJAPTAA x?2 —ax+4 =0 °] A= =2 F
AZS ZIE 2 5t A g o gl Y7t a <a < L W, 308 9

2t Fafol

Yk
=%



20. -1<ux <39 BEAS xof thote] oA FFA] x24+2 (k- 1) x+3k < 0
o] A FHSEF oh= A5 ko] HAGS Fotoizh

e
-



21. the $54 O $54 09 A7t SAT 1), 0,59 RS T5HA?

X2 -2x-3<3x-1]---O
ax®>+2x+b>0---©

®a=-1,b=15 a=-2,b=14

® ©

® a=-3,b=13 a=-4,b=12

® a=-5 b=10



22. O|AESA ax?2 +bx+c> 02 WESH= x HY7F2<x<1¥

o, F52 ex? —ax + b < 02 WESh= x 0] H=?

1 1
D -2<x<1 @—1<x<§ ®—§<x<2

1 1
@§<x<1 ©§<x<2



23. x2—2ax+1=0, x2-2ax+ 2a = 0= A
2T O a®] WA AT W, a <a<pol
Fap?

D1 @ 2 ® 3 @ 4 ® 5



24.

0

S}
°

<x
S

M —m 9] 327

<20 RE AL xof tfsteo] BS54 x2 —ax+a?> -4 < 09|
AHEA ol A4 a O] QS M, FE=FE m ol & o,

@D 4 @ 3 3 2 @ 1 ® -1



25.

m b

@ -3<a<T

@D a<3E=a>7



